Executing a Shell Command by the Use of the System
Adapter

The next example shows the execution of a shell command with a static input parameter. That means that the parameter is set as a static string within the
action script section: echo Hello World > %output[0]% (see action node execute system command in Figure: Executing a System Command).

The inputCount is therefore 0 because no input parameter is set dynamically.

Figure: Executing a System Command

(activity executeCommand] [5F| execute Comm and]
AN
Heywords:
=<ActionScript== [ -
soutput| index 1% denctes Prepare input parameter 1 RGOt ivager }_‘
the output file. {scrpt="setinputCount=0; = qumpunCount : Integer |
This is a temporarly file set oulputCount=1."}
which 18 generatad by tha o
sener and ater execution of
this step automatically e
deleted by it ™
T
> v _
==Systemadapters= o).
execuie system command
{eommand = "acho Hallo World = %outpulf0]%"} 2 )
{ _ J
olrtput @ Array
{arrayElement = Blob}
i =<ActionScript>» & |
Transcode To String commandOutput : String
{script = "set commandQutput = transcedeToSting{output(d], "UTF-87)"} - T
@




	Executing a Shell Command by the Use of the System Adapter

